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B.Com. (Hons.) DEGREE EXAMINATION, NOVEMBER 2015.

III YEAR — V SEMESTER

Major Paper XXII— INCOME TAX LAW AND PRACTICE
Time : 3 hours
   

 Max. Marks : 75

SECTION A — (10 × 2=20 marks)

Answer ALL questions.

1. Who is an Assessee in case of default?

2. State the provisions of claiming 87A rebate.

3. Mrs Reddy  has retired on 31.07.14 whose monthly salary was Rs 40,000 p.m.  His Monthly pension was fixed as `. 20,000 p.m. He has commuted ¼ th of his pension from  01.01.2015. Calculate taxable salary and monthly pension for the A.Y 15-16.

4. A Director of a company has been provided 1.8 litres car with driver for official and personal uses.  The company incurres `. 50,000 p.a for the maintenance of the car and `. 10,000 p.m. as driver salary. Find out the taxable value of car. 

5. Mr X’s business  has contributed ` 40,000 to a college for scientific research and `. 40,000 to an university for research in social  and statistical sciences. Find out the admissable amount.

6.  A Chemical manufacturer  (Commenced business on 1.10.2014) incurred preliminary expenses  (before commencement of business) of  ` 10,000 for drafting agreement and `20,000 for market survey and project report expenses. Cost of the project is ` 5,00,000. Find out the admissable amount for the PY 2014—15.

7. Mr.Anand has earned  interest from post-office savings bank account `1,500. Income from Agricultural Land in Sri Lanka `15,000. Winning from Sikkim lottery (Net)  `21,000 and Horse race winnings ( Net) `3,000  during the financial year  2014-15, Compute the taxable income under “Other Sources”.

8. Master Raju (Age 16 years) earned the following incomes in the PY 2014—15.  
(a) Interest on Securities ` 1,50,000.
(b) Interest on debentures `. 50,000. 
(c) Income from acting in a film.
9. `1,00,000. Raju’s father and mother are working in a Government received salary income of 4,00,000 and `. 3,50,000 respectively. Compute the income of a person with whom minor’s income shall be taxable. 

10. Mr Arul is suffering from a specified disease incurred an expenditure of ` 50,000.  Find out the deduction U/S 80 DDB if
(a) Mr Arul’s age is 58 years and he received from the insurer under insurance policy for the treatment ` 12,000 and 
(b) his age is 62 years.

11. Calculate the deduction allowable U/S 80GG, from the following information. Gross total income `. 1,30,000 (including Long term capital Gain `. 10,000).  Rent paid by the assesee for a house occupied for the purpose of residence is ` 38,000 p.a.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

12. Explain the scope of total income of a Resident but not ordinary resident (individual).

13. Explain the provisions of set-off and carry forward losses.

14. Mr Kamal an Indian citizen leaves India on 01.09.2014 for a business trip to Canada. His stay in india preceding the PY 2012-13 is as follows: Ascertain his residential status for the PY 2014-15. PY 2013-14:  he was out of india from 01.08.2013  to 31.12.2013.

PY 2012-13:  he was out of india from 01.04.2012  to 31.01.2013. 

PY 2002-03 to 2011--12: he was in India for all the days.

15. Mr Abdul an employee at MNM Ltd received ` 10,80,000 as Gratuity.  He retired on 15th September 2014 after rendering service of 36 years and 9 months. He was drawing basic salary of ` 46,000 p.m, D A forming  ` 10,000 p.m and Commission on sales `5,000 p.m at the time of retirement.  His basic salary up to 31.03.2014 was `. 42,000.  Calculate taxable Gratuity.

16. From the following information, find out income from let out property( Construction completed on 01.09.2014) 

(a) Municipal rental value `1,00,000. 

(b) Fair rental value ` 1,16,000.

(c) Annual rent if it is let out throughout the year `1,15,000. 

(d) Standard rent under rent control Act ` 1,18,000. 
(e) Loss due to vacancy `8,000. 

(f) Municipal tax paid 10% of municipal value.

(g) Interest on borrowings for the PY 2013—14 `40,000 and for the PY 2014-15 ` 32,000.

17. Dr. Narayanan is a medical practitioner in Chennai.  From the following, calculate his income from profession for the PY 2014-15.
	Gross receipts from dispensary
	2,35,000
	Gross receipts from consultancy
	1,65,000

	Visiting fees  
	50,000
	Medicines purchased
	1,25,000

	Opening stock of medicine
	10,000
	Gifts from patients
	30,000

	 Closing stock of medicine                    
	12,000
	Salary to employees
	1,50,000

	Operation expenses
	50,000
	Medical books purchased
	20,000


Dr. Narayanan went to attend  a medical seminar in Germany to update knowledge and spent `65,000 on it  

18. Mr Mohan transfers his Residential building spending 2% of sale value on 31.12.2014 for ` 15,00,000, which  was purchased by him in January 1999 for ` 1,00,000. On 20 th January 2015,   he purchased new Residential building for `5,00,000 and deposited `. 2,00,000 for further construction. Compute the capital Gain . CII for 98-99 = 351, 2014-15 = 1024. 

19. From the following  details compute  income from other sources.  
(i)
`. 30,000, 10% Govt. securities.  
(ii)
` 50,000, 18% tax free unlisted securities.
(iii)
Dividend from Indian companies `2,000. 
(iv)
Dividend from Co—op societies `2,000. 
(v)
Income from UTI ` 6,000. 
(vi)
Interest on Bank deposit ` 2,000. 
(vii)
Royalty earned `15,000 and expenses incurred ` 1,000. 
(viii)
Collection charges paid for the bank @ 2% of interest and dividend. 
SECTION – C (2 × 15 = 30 marks)

            Question No.19 is compulsory and any ONE from the rest of the TWO Questions:
20. From the following P&L account of Mr Palani, Compute business income.

	Particulars
	        `
	Particulars
	         `

	To Salary to proprietor
	10,000
	By Gross profit
	50,000

	To Staff salary
	15,000
	By Profit on sale of car
	15,000

	To General  expenses
	7,000
	By Refund of Income tax
	1,000

	To Interest on capital
	2,000
	By Interest on securities
	4,000

	To L.I.C premium
	500
	By Bad debts recovered 
	4,000

	To Depreciation 
	3,000
	By Dividends
	4,000

	To Income tax 
	4,000
	By Interest on post office S.B a/c
	4,000

	To Sign board Advertisement
	2,700
	
	

	To Fire insurance
	1,000
	
	

	To Motor car expenses
	3,000
	
	

	To Provision for bad debts
	1,500
	
	

	To Donation
	3,000
	
	

	To Net profit
	29,300
	
	

	
	82,000
	
	82,000


Additional information.

(a) Depreciation as per I.T rules is ` 2,500 (including depreciation on sign board) only.

(b) General expenses included ` 500 being proprietor’s drawings.
———————

[P.T.O.]
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